Agenda: Today you will need:
> a calculator
> pencil
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1. section 2-2

Housekeeping:
1. SHOW WORK on all problems
(in assignments, quizzes & tests)
2. quiz tomorrow (2-1 & 2-2)
3. retest deadline: 10-6
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Assignment due today:
> 2-1 MathXL (Pearson online)
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2-2: Proving Lines are Parallel 61_2

Writing the converse of a conditional statement
Conditional statement:

hypothes IS
If _l/,imen_ €«
COM\vﬁ]or\

Examples:
e If I'm in Duluth, then I'm in Minnesota.

—+ If I'm a sophomore, then I'm in Geometry.
- If a||b, then Corresponding Angles are = .

T —
?onverse: Switch the "if" and "then" parts around.

Using the examples from above:

A6 I'm n MinneSot, Yhen 'm m Dulech,
> elE ['m kah\jm 'm o SO‘)MMM-
- & \- Covtespording avlos M= en a /.

Is the converse of each true?

Counter Example:
An example that shows a statement to be false.

. 'mn C\mma(\'m but alsp i MN.
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From Section 2-1:

If a||b, then... CA are ( (}ﬂﬁ\/\wﬂ{“
AIA are comrmj‘_
AEA are W

§SIA are‘ﬁu??lg NV\-\VLV}

To Prove Lines are Parallel, use the Converses:
If CA are gﬁm"\‘r Hrun e lies are 7
If AIA areco"qmw\- +an e \\vs ave

, then the lines are parallel.
If AEA areCongvie
If SSIA arem‘;\nm\ -('fM g s avp
verfeal <

P el
VA and LP don't show lines are parallel...
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Is a||b? Explain.

89°

92° b  31°

’ |3 0 > 89°
Yes, a»/é{— yes A es A/

Sentence structure: ence structure: Sentence structure:
The SSL  anglesare The Q—&—QA-— angles are The ngles are

« , So the lines are , so the lines are Mﬁ lines are
&i‘%\\? (- —?wm\\e( porallel:
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Sentence structure: Sentence structure: VQN m\ W\’
The SS T angles are The ST angles are

not Supp. soteinesare g Sy uoplea. . 5o e nes are ‘,l. .\d\ ,G
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Sentence structure:
The angles are The angles are

ﬂ%gwso the lines are ~&Q the lines are no \

Rm\‘o ‘ \“\Qd.r ?a\m Sentence structure:
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Find the value of x so that the 2 lines are parallel

—t

(5x — 15)°

Ala = comspov%mﬂ = s
<0 :.5)(-\6 139=2x+15 3w \?";‘:mo: Mﬁ
Solve

120+%X =190
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